
76
 m

²

S
=

5
76

 m
²

S
=

5
95

 m
²

S
=

5
95

 m
²

S
=

L
O

T
 3

L
O

T
 4

L
O

T
 5

L

 n
° 217 p3

1m
²

S
e

ctio
n

 A
I n

° 258 p3
            405 m

²

S
e

ctio
n

 A
I n

° 258 p4

S
e

ctio
n

 A
I n

° 258 p5

S
e

ctio

-34.89-

-34.90-
-16.50-

-17.05-

-34.91-

-17.04-

-17.04-

-34.92-

P
lan

 d
e

 S
ituation:

P
la

n
 du

 L
ot n

°4

D
e

pa
rte

m
e

nt d
e

 l'E
u

re et Loir

C
o

m
m

un
e de

L
A

 LO
U

P
E

L
o

t 4

D
ossier 8

35
5 P

lan
 d

es lo
ts

E
ch

elle
 :  1/200

S
up

erficie : 59
5 m

²

P
o

sitio
n

  a
p

p
ro

xim
a

tive fouille à la pelle
m

écan
iq

ue
 é

tude G
1

P
ositio

n ap
proxim

ative S
o

nd
ag

e pé
né

trom
ètre

é
tud

e G
1

L
ie

u
 dit :  " L

E
S

 P
U

C
E

L
LE

S
 "

S
e

ction
 A

I n°2
58


